PROBABILITY SECOND EXAM
(Summer School-2008)

Dr. Salih FADIL August 04, 2008

#1) The lifetime in hours of an electronic tube is a random varlable having a probablllty den51ty
functlon given by

-
- X

xe x>0

f(x):i 0 x<0

a) Compute the expected life time of such a tube.
b) Find a bound for the P(2 - 3J2 <X <2+342 )

¢) Calculate the exact probability value given in part b.

#2) Dlagonal value of a square is not known exactly. It is given as a random varlable X that 1S
distributed between 0 and 1 umformly -

" a) Take the area of the s—qtté;re as random vatiable ¥ and ‘c"alcullat‘e‘fy (y).
b) Calculate the expected value of the area of the square by using f, ( y).
©) Calculate the: expected value of the area of the square dtrectly '

#3) Suppose that a normal die is rolled twice. Random variable X is defined as the numbers of dots
obtained in the first roll minus that of in the second roll. Calculate the probablllty function of X.
Calculate also P(X <4).
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